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The interpretation of relationship between 
Net Working Capital and Current Ratio

Introduction:

For any credit processing officers and the decision 
taking authority, the concept of relationship between 
Current Ratio (CR) and Net Working Capital (NWC) 
should be crystal clear. Individually the concept of 
Current Ratio and Margin are like chalk and cheese.  
The interpretation of the business, its growth, owners 
contribution depends purely on how to co relate these 
two things.

Net Working Capital:

Net Working Capital is the excess of Long Term 
Sources over Long Term Uses in a business entity. This 
margin grows year after year by generating sufficient 
profit and healthy picture of Reserves and Surplus.  
One of the main long term sources of the finance is the 
ploughed back profit of the business, which constitutes 
the part of Reserves and Surplus. If this is built up on 
a regular basis, then we can think of commanding a 
sizeable amount of premium during the Initial Public 
Offer share issue, which again contributes to the Long 
Term Sources. For plough back of profit, it is normally 
expected that the business volumes should grow which 
finally contributes to the profit.  We can confidently say 
except for the initial years of the business during which 
period the owners brings in Capital, in the subsequent 
years the business should generate sufficient profit for 
its sustainability.

Current Ratio :

This is an important ratio where we are comparing 
the Current Assets against Current Liabilities. Being a 
liquidity position dealing with day to day business, it is 
expected that this ratio is at an acceptable level of 1.33.  
This indicates the promoter / borrower is having a sound 
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margin of 25% in the business. (133:100 = 33.33x4 / 
33.33X3). While Current Ratio takes care of the margin 
component in running the business, the same work is 
taken care by DER in case of a Term Loan in starting 
the business.

Improving the margin :

Improving and sustaining the margin is one of the basic 
stipulations in any credit proposal.  Unfortunately, the 
billion dollar question when to stipulate the improvement 
of margin is a big question mark even for a seasoned 
credit decision taking authority.  This article tries to 
educate the relationship between Current Ratio and 
NWC.  It also goes in depth about the understanding the 
dynamics of change between NWC and Current Ratio.

What is NWC and how it differs from CR?

Net Working Capital is the money with which a borrower 
runs the business as his contribution towards the 
same.  It can be defined as the excess of Long Term 
Sources over Long Term Uses.  Without basic margin, 
the borrower cannot think of running the business by 
availing working capital loan commonly known as “Cash 
Credit” in the Indian context.  NWC is value of margin 
in absolute terms.  It means the margin in the system 
is `5.00 lakhs indicates that after meeting all his Long 
Term Uses from his Long Term Sources, he is left with 
this much amount to run the business.

The short term funds are basically   Short Term Sources 
and Short Term Uses.  All the current liabilities of the unit 
are short term sources and Inventories, Receivables, 
Other Current Assets, Cash on Hand are known as 
Current Assets.  Current ratio is comparing the Current 
Assets with that of Current Liabilities.  In the short term, 
in case of need the liquidity position of the company 
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should be good to run the business and whether he is 
having sufficient Current Assets to meet the Current 
Liabilities is seen by the Current Ratio.

While NWC is in absolute amount CR is only a ratio.  
When we say margin is `5.00 lakhs this is absolute.  

When we say Current Ratio for the business unit with 
a NWC of `5.00 lakhs it totally conveys a different 
meaning.  This margin need not reflect only one current 
ratio.  All the combinations of the following tables with 
the same margin reflect different current ratio.

(` In lakhs)

Levels of Business Current Assets Current Liabilities NWC Current Ratio

Level I 25.00 20.00 5.00 1.25

Level II 30.00 25.00 5.00 1.20

Level III 35.00 30.00 5.00 1.17

Level IV 40.00 35.00 5.00 1.14

Level V 45.00 40.00 5.00 1.13

Level VI 20.00 15.00 5.00 1.33

Level VII 15.00 10.00 5.00 1.50

Level VII 10.00 05.00 5.00 2.00

In the practical situation there is no business unit 
maintaining the same margin and current ratio over a 
period of time. The margin in absolute amount undergoes 
a change and NWC also changes as it has no direct 
relation to the margin but depends purely on the level of 
Current Assets and Current Liabilities created with that 
margin.  If it is so, then how to ensure that the banks 
funds are safe in business. How to ensure course of 
correction in case of aberrations, when to stipulate to 
bring additional margin for sustaining the business are 
always a cause of concern which is to be taken with 
proper understanding of the business.

The relationship:

We have seen the two variables i.e., Margin in the 
system mainly boosted by the plough back of profit 
for a healthy running unit and Current Ratio which 
has no relevance to the absolute margin in the system 
but depends on level of CA and CL.  Since both are 
variables, each of the variable can remain constant, 
increase or decrease.  This results in the permutation of 
nine different situations while comparing the margin and 
current ratio with the base year.  Let us see the various 
situations of these permutations:

Margin = = = + + + - - -
CR - + = + - = = + -
Situation 1 2 3 4 5 6 7 8 9

We can confidently say that the situation where both 
are increasing, it is good both for bank and borrower, 
whereas where both are decreasing; it is an alarm bell 
for both.

To understand the various situations, let us put the above 
table in understandable figures for the convenience 
sake.
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Current 
Assets

500 600 400 500 600 600 720 460 400 380

Current 
Liabilities

400 500 300 400 460 490 576 368 310 310

Margin 100 100= 100= 100= 140+ 110+ 144+ 92- 90- 70-
Current Ratio 1.25 1.20- 1.33+ 1.25= 1.30+ 1.22- 1.25= 1.25= 1.29+ 1.23-
Situation Base 1 2 3 4 5 6 7 8 9

As there are only two variables, which can increase 
decrease or remain constant with the base year, there 
cannot be any other combination even in real life 
situation.

Let us understand the various situation and the 
meaning/interpretations behind it:

Situation 1: Margin remaining constant but Current 
Ratio Declines:

This situation happens because the borrower is 
expanding the business but at the same time for the 
increased level of current assets for the growing business, 
he has not brought in pro rata margin.  Whatever the 
margin available in the system he is managing with the 
same but to meet the increase there are two options 
before him i.e., increasing the Short Term Sources 
of Sundry creditors or Bank Borrowings. Increase in 
Sundry Creditors can be treated as the improvement 
in the quality of business or brand reputation. If that is 
the situation after thorough due diligence, then there 
is nothing to worry.  The situation can also because of 
double whammy i.e., reduction in the level of Sundry 
Creditors and increased level of bank borrowings. In 
either case it is an alarm signal.  Indirectly it means he is 
contributing his share of margin for the business which 
had existed in the earlier year.  The customer may also 
argue the acceptable level of margin is only 1.17, so, I 
am removing my excess margin for business expansion.  
Again, it is a point to be probed whether it is for business 
expansion or diversions.  A proper supervision and due 
diligence will suggest whether to induce more margin or 
to take corrective steps.

Situation 2: Margin remaining constant but Current 
Ratio increases:

When the business is growing this situation will never 
happen.  Only when the business is shrinking unit can 
show a better current ratio with the same margin.  This 
is a cause for concern as the business is coming down 

due to various factors, either he has to improve it or 
diversify into other areas of business to sustain his sales 
and profit level.  Bank can’t be complacent that current 
ratio is increasing with the same margin rather it should 
be taken with a pinch of salt.

Situation 3: Margin and Current Ratio both remaining 
Constant:

When there is no change either of these elements 
it indicates the borrower has reached the maximum 
possible level of production / output and hence the 
business remaining constant. This is very rare in the 
present situation due to competition at all levels.  This 
is not a cause for concern but from the borrower’s point 
of view he should take proactive step for diversification 
of the business or fresh value addition.  This can be 
counseled to the borrower as the share of the borrower 
is likely to come down in the coming years due to 
competition and also there is no guarantee that he can 
sustain the business at this level for ever.

Situation 4: Margin and Current Ratio both increases:

This is the ideal situation for the bankers.  This is a 
growing concern with gradually less depending on other 
short term sources of finance.  Clear indication of plough 
back of profit on a regular basis is visible, if there is no 
additional capital or term liabilities introduced.  There 
is no cause for worry.  It is to be ensured that he is 
not indulging in overtrading or speculative as a prudent 
banker with social responsibility.

Situation 5: Margin increases and Current Ratio 
declines:

This is a situation where the business is growing 
but gradually with fewer margins.  Care is required 
because to maintain a current ratio at the existing level 
for the increased business, the stipulation of bringing 
additional margin is must.  The current ratio may be 
above the acceptable level of 1.17 which does not give 
the freedom to the borrower that he can continue the 
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trend of reduced margin when the business is growing.  
If checked unabated the situation may turn in to the 
Current Ratio going below the acceptable level at which 
time the course of correction will be costly.  

Situation 6: Margin increased and Current Ratio 
remains constant:

This situation apparently looks rosy. This clearly 
interprets that the borrower is maintaining his margin 
even in the increased level of business and total current 
assets.   This also throws an intriguing question which 
deserves attention from the monitoring point of view 
what he is doing with the profit accumulated. If the 
plough back of profit is just sufficient to maintain the 
margin then what he will take back as dividend? Steps 
to improve the profitability are to be taken. May be in 
the initial years of competition from the new entrant he 
may reduce the margin of profit but if it is allowed to 
continue then he cannot remain amidst the competition. 
This is high time for the borrower to have value addition, 
product specialization and diversification if there is 
scope.

Situation 7: Margin decreases and Current Ratio 
remain constant:

Any reduction in margin but with the same current ratio 
is possible only when there is fall in revenues/sales of 
the business unit. Maintaining the same ratio is not a 
boon or gift to bank but at what circumstances is more 
important.  There is no profitability in the business and 
/ or the revues are shrinking could be a reason for this 
situation. Care is to be taken with reference to availability 
of current assets and constant supervision and brining 
of additional margin is the requirement of the hour.

Situation 8: Margin decreases and Current Ratio 
increases:

This may be a clear sign of winding up of the business.  
At the same time he is keeping his margin high reducing 
the outside liabilities.  Now the intention of the borrower 
and his business model are to be studied in detail to 
know the truth of the matter. Gradually he is quitting 
the business and we may also in the process loss a 
borrower customer.

Situation 9: Margin and Current Ratio both 
decreases:

This is a red flag situation.   The unit may be making 
losses year after year and could not sustain the business 
resulting in the reduced level of business and eroding of 
the margin year after year.  Unless the rot is stemmed 
it is difficult to control the return of our assets.   If any 
drastic situation is not taken by the borrower to check 
the downfall, as bankers we have no option to recall 
the advance if the viability is no more existing in the 
business unit.

The above study is feasible and possible only in a 
free market.  As Indian Economy is sailing through the 
capital market with socialism as undercurrent, most 
of the situations are applicable for a normal working 
capital transaction.  This is not applicable where the 
production/sales is controlled by Government control or 
the borrower indulging in speculation and / or hoarding.

With this study, it is a ready reference to study the effect 
of both margin and current ratio though both are like 
chalk and cheese in comparison.  Any individual effort 
or study of these two variables will throw no light on the 
actual health of the business.  A combined study of both 
these variables with reference to previous year gives 
the right interpretation.



BANK QUEST 
THEMES FOR NEXT ISSUES

The themes for next issues of “Bank Quest” are identified as: 

•	 July-September, 2016: Stressed Account Management & Financial Stability

•	 October-December, 2016: Digital Banking

•	 January-March, 2017:Business Analytics

•	 April-June, 2017: Challenges in Infrastructure financing


